De’e’nce #T:‘uuruTIVI

NDA GAT 2021-I1 SOLVED PAPER

Directions 1-10: Each item in this section has a sentence with three underlined parts labelled (a), (b)

and (c) Read each sentence to find out whether there is any error in any underlined part. Indicate your
response in the Answer Sheet against the corresponding letter i.e. (a) or (b) or (c). If you find no error,
your response should be indicated as (d).

1. Nursery classes / for the children starts /on April every year./ No error

(a) (b) (©) (d)
2. The pollution/ level is very high in our city, and/ becomes a health hazard.
(a) (b) (©)
/No error
(d)
3. India is a country of linguistic / and cultural diversity with / multiple ethnic and social groups
(a) (b) (©)
/No error
(d)
4. Why does the lapse/ rate effect the tendency / of air to rise ? / No error
(@) (b) (c) (d)

5. The thorax is the upper/ part of your body /from the neck down

(@) (b)

/to the bottom of the ribs and diaphragm./ No error

() (d)

6. The practical uses of astrology /have seldom been seriously / studied outside India.

(a) (b) (€)
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/No error

(d)

7. She collected some /armful of medicines and / poured them down a drain. / No error

(@) (b) (©) (d)

8. In many countries, / the United Nations/ or other internationally organised

(a) (b)

Peacekeeping forces are trying to keep the peace. / No error

(©) (d)

9. Early cities rely on food and water / from the surrounding countryside, /

() (b)

but today cities often depend on distant sources. /No error

(©) (d)

10. Climate change, whether/ it is natural or human-induced, / is stressful for the people

() (b) (c)

/No error (d)

Idioms and Phrases

Directions :11-20 Given below are some idioms/phrases followed by four alternative
meanings for each. Choose the most appropriate answer from among the options (a), (b), (c) or (d).

11. Once-over

(a) To do something quickly

(b) To do something elaborately
(c) To do something perforce
(d) To do something for others

12. A bag of bones

(a) An extremely fat person
(b) An extremely thin person
(c) A wealthy person

(d) A healthy person
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13. Muddy the waters

(a) To spread dirt around

(b) To make a situation easy

(c) To make one’s life happy

(d) To make the situation complicated

14. To level with

(a) To be honest

(b) To be on a plain
(c) To cheat someone
(d) To take revenge

15. Show your hand

(a) To tell people about the past
(b) To tell people about the future
(c) To tell people about them

(d) To tell people about your plans

16. To pull up

(a) To lift heavy weights
(b) To check oneself

(c) To shorten the distance
(d) Too short of destination

17. Be out of action

(a) To get punishment

(b) To get reward

(c) To become dysfunctional
(d) To become superactive

18. Learning from the school of hard knocks

(a) Learning things from experience

(b) Learning things from others

(c) Learning things from environment

(d) Learning things through difficult experiences

19. Raise some hackles

(a) To annoy

(b) To make someone happy
(c) To do a great task

(d) To sitidle

20. A man of letters
(a) An excellent artist
(b) A scholar in literature

(c) An outstanding sportsman
(d) A known novelist
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Ordering of words in a sentence

Directions :21-30 Each of the following items in this section consists of a sentence, the parts of which
have been jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to rearrange the jumbled parts of the sentence and
mark your response accordingly.

21. P: Symbolic of peace, and prosperity

Q: the Gupta |Empire in India is
R: Represented through numismatic archseological
S: and literary evidences of multiple kinds

The correct sequence should be :

(a) QPRS

(b) QSRP

(c) PSQOR

(d) RSQP

22. P: The transportation system so that it

Q : and not just the affluent section of society
R: Provides mobility to everyone
S : there are many ways to restructure
The correct sequence should be :

(@) PQRS

(b) RQPS

(c) SPRQ

(d) QRPS

23. P : And accurately displays spatial

Q : relationships between landforms and water bodies
R: The globe shows Earth’s spherical shape
S : and comparative distance between locations

The correct sequence should be :

(a) PQRS

(b) RPQS

(c) SPQR

(d) QRPS

24. P : The function of the capillaries
Q : and other material to all the cells in
R: Is to take nutrients, oxygen
S : the body and to take away their waste material
The correct sequence should be :
(a) PRQS
(b) RPQS
(c) SPQR
(d) QRPS

25. P : Like mine
Q : even to someone with
R :atin ear
S: her singing sounded pretty melodious
The correct sequence should be :
(a) PRQS
(b) RPQS
(c) SPQR
(d) QRPS
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26. P: The sorry state of affairs in the modern

factories
Q : the Government of India
R: Under the British was pro-capitalist
S: though it took some half-hearted steps to
mitigate

The correct sequence should be :

(a) PRQS

(b) QRSP

(c) SPOR

(d) QPSR

27. P : of extreme poverty among its people
Q : economic policies was the prevalence
R : a major characteristic of British rule in
India
S : and the net result of British

The correct sequence should be :
() PRQS
(b) QRSP
(c) RSQP
(d) QPSR

28. P: you can’t judge
Q: very intelligent, but
R: a book by its cover
S: he doesn’t look
The correct sequence should be :
() PRQS
(b) RPQS
(c) SPQR
(d) QRPS

29. P : membership and partisanship as well as
Q : can be found in the decline in party
R : Evidence of a crisis in party politics
S : in the rise of antiparty groups and
movements

The correct sequence should be :
(a) RQPS
(b) QRSP
(c) RSQP
(d) QPSR

30. P: government, market and voluntary
organisations
Q: misture of contributions from
R: a major characteristic of British rule in
India
S : and the net result of British

The correct sequence should be :
(a) RQPS
(b) QRSP
(c) RSQP
(d) QPSR
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Synonyms

Directions 31-40: Each item in this section consists of a sentence with an underlined work followed by
four words, (a), (b), (c) and (d). Select the option that is nearest in meaning to the underlined word and
mark your response in your Answer Sheet accordingly.

31. He is essentially a lowbrow person.
(a) coarse
(b) proud
(c) passionate
(d) pathetic

32. His nostalgia is deep.
(a) excitement
(b) longing
(c) happiness
(d) ability

33. His truancy is detrimental.
(a) loyalty
(b) integrity
(c) honesty
(d) absenteeism

34. He is a maleficent person.
(a) generous
(b) cunning
(c) criminal
(d) friendly

35. He solemnity is celebrated.
(a) greed
(b) desire
(c) trust
(d) dignity

36. His bounty is limitless.
(a) benevolence
(b) gallantry
(c) nepotism
(d) chivalry

37. The Holocaust was experienced by millions.
(a) celebration
(b) destruction
(c) construction
(d) beautiful

38. His aversion is known to all
(a) hospitality
(b) hostility
(c) humility
(d) humbleness

39. To be able to decipher something is wonderful.
(a) decode
(b) encode
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(c) simulate
(d) animate

40. It is the opportune time to think about investment in the
real estate sector.
(a) honorary
(b) appropriate
(c) difficult
(d) unsuitable

Antonyms

Directions 41-50: Each item in this section consists of a sentence with an underlined word followed by four
words, (a), (b), (c) and (d). Select the option that is opposite in meaning to the underlined word and mark
your response in your Answer Sheet accordingly.

41. His opinion is lopsided.

(a) partial (b) crooked
(c) unequal (d) balanced
42. His work is praiseworthy
(a) admirable (b) condemnable
(c) commendable (d) creditable
43. His deeds had retrograde results.
(a) progressive (b) negative
(c) retreating (d) reverse
44. He always offers palatable solutions.
(a) acceptable (b) agreeable
(c) unacceptable (d) pleasant
45, His views on the subject are microscopic
(a)broad-based (b) minute
(c) precise (d) fine
46. He is always obdurate in his behaviour towards other people
(a) flexible (b) callous
(c) insensible (d) obnoxious
47. Mohan always had profound respect for Sohan.
(a) deep (b) extreme
(c) sincere (d) superficial
48. We were living in turbulent times.
(a) destructive (b) unstable
(c) calm (d) stormy
49. Amit is a dogmatic person.
(a) assertive (b) amenable
(c) bold (d) rigid
50. Sachin is very fickle in his behaviour.
(a) stable (b) capricious
(c) mercurial (d) vacillating
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51. Which one from among the following planets is largest in size?/fAFafaf@d 7@l & & Hia-ar 3mER
A HEH d8T §?
(a) Earth/gqdY
(b) Venus/RIsh
(c) Mars /&ITel
(d) Mercury /g4

52. Match List I with List Il and select the correct answer using the code given below the lists /& T &
A lld @y ghfaa Hifae iR gt & D G v ge & g3 & @@ 331 giav:
List T /g1 List 1T /g1
(place)/ (TATT) (Feature)/ (farQiwar)
A. Mumbai/Hg$ 1. Queen of the Arabian Sea
B. Visakhapatnam/ 2. Biggest port of India/
famEudadd  HRA & FIQ IS A
C. Chennai/3d=a% 3. Land-locked harbor/

S IEE

D. Kochi/a=a 4. Oldest port on the Eastern Coast/Jdl d¢ W URNAdH deldMe
Code/&qc:

A B C D
(@ 2 4 S 1
by 2 g 4 1
(c) Wil 1 3 4 2
(d) M 1 4 S

53. Which one of the following is a crater lake in India?/HRd & AFafaf@d & & Pia-d ke i &2
(a)Lonar Lake/aeR afrel
(b) Smbhar Lake/&T$R il
(c) Chilika Lake/Trear afrer
(d) Vembanad Lake /daaTg st

54. Fine-grained bed of ephemeral lake in a desert is also known as/fh&l FEEAST H HeUdlloldh Sl
I FEA-DBUNT FER 6 A @ o Sar ST g2
(a) Playa/Terar
(b) Oasis/HT-3dT
(c) Drumlin/gafereT

(d) Natural levee/UThide dedy

55. Which one of the following factors does not affect the distribution of groundwater? /e fofad & &
BIF-TT PR Mo (IS areX) & AIROT H ganfad AT Har &2
(a) Amount of precipitation/a¥or &t FTET
(b) Rate of evaporation/drsdehioT hr &3
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(c) Ability of the ground surface to allow water to infiltrate into the groundwater system/$il37sTel WOt
A T & AT (eheced) & fow o-Tde & &aar
(d) Distance from the sea/Hdg ¥ gl

56. The Constitution (35" Amendment) Act of 1974 is related to which one of the following
States?/dTAG (35a1 TAYA) AT, 1974, AFafaf@a & & forg To7 & Fafda &2

(a) Mizoram / f&=iRaT
(b) Sikkim /T &fFwa

(c) Nagaland /4ol
(d) Arunachal Pradesh/
30T UeRT

57. Which one of the following best describes the electoral system of India?/fAeafaf@d & & wia-ar
HRA 61 Aataa gotelt &7 FatdH guia aRdT &7
(a) First-Past-the-Post System/Haldd AT A S dTell YU (HEC-URC-G-URe THTeH)
(b) Proportional Representation/3fieuride gfdfafaca
(c) Mixed System/faT&d goTrelt
(d) General Ticket/dmT fedhe

58. Which one of the following is a non-justiciable right?/fAFafef@d & & Pla-ar =R 3IfAFR g2
(a) Right to adequate livelihood /TaTd@ 3mshifaer &1 31fAGR
(b) Right against exploitation/2NuoT & fa%g IER
(c) Right of accused/31T#gd T 3TABR
(d) Right to life and personal liberty /uToT 3R &fees Tadaar & 3fAdR

59. Which one of the following is not a writ? /f@sfaf@d & & ia-d@ Re & &2
(a)Mandamus /TRATCT (HSAH)
(b) Habeas Corpus/d&l Ucgafiaor (Rfdaa &raa)
(c) Certiorari/3ciuoT (TRTATRRY)
(d) Severability / gUFROIAT (FerfaferdT)

60. Which one of the following is not a part of Fundamental Rights?/faefaf@d # & sla-ar Jqa
HfAPR BT AT 8l &2
(a) Right to education/ A& & 3fAPR
(b) Right to establish educational institutions by minorities /3Teqa&adi gRT Af&Id TEAT TATT TR
A HAPR
(c) Right to be conferred with titles/3urfaadt & ARG @ &1 HfAFR
(d) Right against untouchability /3FGIAT & Taeg FTAPR

61. Which one of the following is not a function of the Constitution of India?/f@Ffaif@d & & dia-ar
WRa I F1 UhrT a8 82
(a) To ensure participation of good people in politics /ISTATT H 37T AN T ANGRY mﬁ AT
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(b) To guarantee a set of rights to citizens /AR P IFTABRT & Teh FHTAT (V<) P ITRE &t
(c) To define the power of the different organs of government/TR&R & [affe 319 & ARk @r
TR HLm

(d) To create conditions for a just society/=aTaqul AT & forw Rufaar giod aar

62. Which one of the following statements about biodiversity is not correct? /sia-fafaadr (IraEraiier)
& aR # Aeafof@ad & & Pla-ar g9 agr Jg 82

(a) The term ‘biodiversity’ was coined by Walter G. Rosen in 1986/ ‘ar\sIaiicl’ QU &l fAaATor
dTeex i, Ao o 1986 & fopam 2|
(b) The term ‘biodiversity hotspots’ was coined by Norman Myers in 1988./ ‘STaisRaic! gieEqre’
Qg ol fAHATT Al ARG a4 1988 # fohar |
(c) The regions having richest biodiversity are called ‘biodiversity hotspots’ /08 &3 ‘TTABRIATET
gleedie’ (‘Sta-fafaudr ddealia-vua) dgald ¥, Sl aga HfAw Sta-fRfuar ad 2
(d) More than 100 hotspots of biodiversity are identified in the world. /faf#r & Sta-fafayudar & 100 &
31 FdcaAMT-TUel Hr ggar d AT B

63. The Earth’s atmosphere is mainly heated by which one of the foIIowing?/q%‘cﬁ Cal Errg?rs?r
feafafad #0 geaa: fFad grT ag adar ¥2
(a) Short wave solar radiation /g @91 &N fafeor
(b) Reflected solar radiation/qRrafcdd &R fafeor
(c) Long wave terrestrial radiation/&rer a1 urfda fafesor
(d) Scattered solar radiation/geheT R fafesor

64. Which one of the following is the correct sequence of layers as we move from the Earth’s surface
upwards?/8-g8 ¥ FW &I 3R Fed g Wl B T 3iefehe fAeafai@a & @ wla-ar &2
(a) Troposphere, Stratosphere,
Thermosphere, Mesosphere/&NHASH, HAIUHSH, I ATGHASC, HLIHSH
(b) Troposphere, Stratosphere, Mesosphere,
Thermosphere /&S, FAAUHASH, HAHSA, dTE ATHSS
(c) Thermosphere, Mesosphere,
Stratosphere, Troposphere/ dT&l digHASe, HALTHSH, AAUHS, eI,
(d) Stratosphere, Mesosphere, Troposphere,
Thermospher /AAAUHSH, ACAHASH, &NHASA, AFHASST

65. Which one of the following is not a soil forming factors? /faefaf@d & & Hla-a1 FeT WP FRP
e &7
(a) Parent material /STelch GTHAT
(b) Topography /EelTehia

(c) Climate /sTeldrg
(d) Human habitation/HATd drA-FATA

66. Which one of the following best describes the Lithosphere? /¥Ucidise &l [Aeafaf@d & & did-a1
atdd &7 8 afdtd Hdr g2
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(a) Upper and lower mantle/3a3r 3R e diea
(b) Crust and core/uddl 3iR @IS

(c) Crust and upper mantle/Tqér 3R Wy dAea
(d) Lower mantle and core/f@d #Hed 3R FiE

67. Which one of the following countries has the maximum time difference from Greewich Mean Time

(GMT)?/MfaT sreg w7 (G ta. &) & Aeafaf@a & & fha ¢ & daaiaR 3ifdas &2
(a) India/ AR
(b) Nepal/=1arer
(c) Sri Lanka/#eient
(d) Bhutan/3cTel

68. Which one of the following is not a feature of the Constitution of India? /fAeafef@aa & & dia-4dr
9RT & Tfaura $r faduar a8 &2
(a)lt provides a set of basic rules./Jg H AIA P T FHTT (V) YaH HAT B
(b) It specifies the power of the Government. /IJ& TR $i Afh & fafafey war I
(c) It is the supreme law of the land./ag &2 &1 Harea fafar gl
(d) It specifies the supremacy of the judiciary./3& =argurferer & Fdicaar @ AATEE T ¢

69. Which one of the following statements about the Attorney General of India is not correct?/HRd &
HAEATIAIET (3Tiel Slelkel) & IR # fAafaf@aa & @ ala-ar 79 T 785 82
(a) He has the right of audience only in the Supreme Court of India./38 hdd HRd & 3Tddd
=TT H gAdTs d1 ATABR B
(b) He shall receive such remuneration as the President may determine./dg UHT UIRHTHAE UTd HIIMT
St gufa sauida &Yl
(c) He shall be qualified to be appointed as a judge of the Supreme Court./dg 3TddH =TTl <hl
=i Agw @ & fow s3fka (Farfawss) e
(d) He shall give advice to the Government of India on all legal matters./dg HRd THR & 9 fafar
TadT fawat F Fere gom|
70. Who among the following desciebed the Directive Principles of State Policy as the novel feature of the
Constitution of India?/AFafaf@d & & haa Tog & AfT & FEAd dea & ARG & qfaura
S TaAudr wer?
(a) Jawaharlal Nehru/STdTelelTel g
(b) Rajendra Prasad/3Tsig UG
(c) S.N. Mukherjee/TH. T, @S
(d) B. R. Ambedkar/d. 3. 3{dsH

71. Which of the following statements about the Indian Councils Act of 1861 is/are correct? /&3
FERe Ve (IRAT uRug 31fAfaas), 1861 & R & fAafai@d & @ dlA-T1/Ha-T HYT T
Y
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1. It enlarged the Governor General’'s Council for the purpose of making laws. /38 Pleled AT &b
TS ¥ IR Skl & aRug &1 faear |
2. The Governor General was not authorized to increase the number of members. /3TdelR SRl
el b1 & # gfg R & fow urfdgpa @& am|
Select the correct answer using the code given below/d fgu T RC BT T A Tl 3aX qﬁl‘t’:
(a) 1 only/&hae 1
(b) 2 only/&aer 2
(c) Both 1 and 2/1 3iR 2 a4t
(d) Neither 1 nor 2/ @t 1, T & 2

72. Which one of the following statements about Tattvabodhini Patrika is correct? /dcaaf@et qf¥er &
IR # Aeafef@d & & dla-a1r I T&r 82

(a)lt promoted a systematic study of India’s past in the Bengali language. /39 Sdell HWT H Ui
HRA & IITEAd FEIIA Pl NcATRd fhaT|
(b) It promoted a systematic study of India’s past through Sanskrit sources. /38 TEpd dldl &
HAEHA & Ul ARG & Idieyd 3T Dl Uicdifed |
(c) It promoted a systematic study of India’s past through Persian sources. /38 BRAT Fidl & ATETH
T Ui ART & Iafeyd 3T Pl Wicdled [Tl
(d) It promoted a systematic study of India’s past through Western sources. /38« U&=l @dr &
HATETH & U ARG & IIReYd 3T Dl Uicdifed |

73. In which one of the following years did the British demareate a large area of land as Damin-i-koh for
settling the Santhals?/fAs=fafaa & @ frg a & Rfer m@a 3 G & 9@ & o th a3
H-HTIT T SIfAT-U-hle & ¥7 H HiATh fhaT?

(a) 1810
(b) 1793

(c) 1885
(d) 1832

74. The Tropic of Cancer does not pass through which one of the following States?/&d-3@T fAeafaf@d
A ¥ fhE U @ G A8 IR 872
(a) Manipur/#HOTqY
(b) West Bengal /i1 S9TTer

(c) Gujarat/I[sRTcd
(d) Jharkhand/3TR@s

75. Which of the following pairs of crop and product is/are correctly matched? /%&el 3R 3curg &1/%
[Arafaf@d #9 HiF-A1/Hia-8 oA T 30 @ gaAfoa /82
1. Food crop/@r”I w8 :  Ragi/Ief

2. Casg crop/addl ®He :  Jute/I[C
3. Plantation
Crop /40T &He : Coconut/aATRI

Select the correct answer using the code given below/=a f&T fe @1 TANT A FE 3 AT
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(a) 1 only/&haeT 1

(b) 2 and 3 only/&aer 2 3R 3
(c) 1,2and3/1, 2 3R 3

(d) 3 only/&aer 3

76. Which one of the following coalfields is not located in Jharkhand?/fAFafaf@d & & dia-ar drger
& IRWs A YT ¢ &2
(a) Jharia/zTR=AT
(b) Ramgarh/THITG
(c) Deogarh/<adTe
(d) Umaria/3aARar

77. Which one of the following is the longest parallel of latitude? /fAFfaf@d & & HIF-TT PIIT &
IREs A Ud a7 2
(a) Tropic of Cancer/@dh-T@T
(b) Tropic of Capricorn/HFI-X@T
(c) Arctic Circle/3aydra g
(d) Equator/FHET-3@T

78. The periodic rise and fall of ocean water in response to gravitational forces is called/wﬁw Tl
& JHTT & PHROT ASTEPRIT STl A g arel Jafdd 3dR AR gea F1 dgdd 82
(a) Current/9RT
(b) Waves /a3t
(c) Tides/SdR-HTCT

(d) Tsunami/ g

79. Which of the following statements about the first Indian Factory Act passed in 1881 is\are Correct

2/a9 1881 H UIRA UYH 3f39a Shacll Vo (MRAT dR@Er iffagsd) & ar & Aeafafaa &
q PIF-AT/PII-H AT HE £/87?

1. The Act dealt primarily with the problem of child labour./TE 3fRfATH =T TT & el Holgy @I
qHEAT § wafad gl

2. The Act laid down that children between 7 years and 12 years of age would not work for more than

9 hours a day./38 3fAfaaH # HfHASAT & 6 7 a0 & 12 a¥ Fr 3y & arere yfafea 9 ¢ @
31T HIH T B
Select the correct answer using the code given below/# 6T §e &l TANT A FE 3R JiAT:
(a) 1 only/dvaer 1
(b) 2 only/&aer 2
(c) Both 1 and 2/1 3iR 2 gt
(d) Neither 1 nor 2/ @t 1, T & 2

80. Which of the following statements about Mahatma Gandhi’s anti-untouchability campaign is\are

correct? /AEICHT MY & 3EQRIAT-TRI 31fFTa & IR # Aafaf@d d a dia-ar/aa-7 w3y
T B/e?

13|




1. The All India Harijan Sevak Sangh was founded for this purpose./38 Saieid & o 31T&e
TR eRSTT Jdeh g & TATAT Fr 718 A

2. The campaign was to root out untouchability, since it did not enjoy the sanction of the Hindu

shastras./a% HATT EGIAT B FAH A $ v a1, i g ameEt d 3EqRIar & fow
P FAYT TRl AT
Select the correct answer using the code given below/&T< f&T 1T §e &1 YA R FE 3] JAT:
(a) 1 only/daer 1
(b) 2 only/dhael 2
(c) Both 1 and 2/1 3iR 2 &=t
(d) Neither 1 nor 2/ @ 1, T & 2

81. The founders of the Paramhansa Mandali founded in Maharashtra believed in which one of the
following? /HERTE H TAUT WRATH HAsell & TEATH AFATofad # & frasd faama s a7
(a) Social distancing along caste lines/Sfd & 3TYR W AT gl @A H
(b) Glorification of caste system/Sifd AT &l AfgATHSA
(c) Forbidding widow remarriage /farar gafdare @ favyg
(d) One God and in breaking caste rules/T& $4R & #AGS H dAT Siifad ATt @ aEa &

82. Which one of the following statements about the ishtahars issued during the Revolt of 1857 is

correct?/1857 @Y @hifd & G ST fhT 91T 3der! & IR & PAafef@a & O Hla-ar =
el &2
(a) They glorified the Muslim rule in India./3H# #Rd H ARETH AHA Pl AfGATHIST feham aram |
(b) They glorified the co-existence of different communities under the Mughal Empire. /33 HITT
qEST & AN Affie et & Tg-31edca o AfgeArHASd fohar arm o)
(c) They glorified the message of Islam./3cH STATH & HSLA Bl AfgATAST fohar arar am|
(d) They glorified the role of Queen Victoria./3# @il TaereIRAT T HfHHT dH AfRATATST fovar r=r
AT |

83. During the Industrial Revolution, who among the following designed the ‘flying shuttle

loom™? /311w hifd & e, fAsafaf@a & @ fhaa (‘33 TXhr Fear) &1 Barsa fear ar?
(a) Samuel Crompton/837el shiFuc
(b) Edmund Cartwright/TsHs HIeIse
(c) John Kay/Siid &
(d) Richard Arkwright/R@g 3dRTge

84. Match List I with List Il and select the correct answer using the code given below the lists/g=T I @l
A lld @y ghfaa HifSe 3R R & 9 G v ge & g3 & g8 331 giav:
List T /%=1 List 1T /&= 11

(Dam)/ (a7 (State)/ (I=T)
A. Hirakund /&R1&s 1. Gujarat/I[eRTd
B. Panchet/dad 2. Bihar/f9gR
C. Kosi/@rr 3. Odisha/3ifgerm
D. Ukai/3®T$ 4. Jharkhand/
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Code/%qc:

A B C D
@ 3 4 2 1
) 3 2 4 1
¢ 1 2 4 3
d 1 4 2 3

85. Which one of the following features is the result of erosion and deposition work of a

river?/fAefaiad & & Hia-r AAvar adr & 3aea 3R fAguor & @1 aRkomer g2
(a) Pothole/STersT TfcieT
(b) Oxbow lake /aTasrer
(c) Levee/dedy
(d) Rapid/f&fir (fUs)

86. Which one of the following is not a feature of agriculture in India?/fAefaf@ad # @ dla-ar AT

PR A RAAvar & ¥2
(a) Subsistence agriculture /faaTg Fgﬁr
(b) Pressure of population on agriculture/%ﬁf W FTAGEIT FI &dTd
(c) Dependence upon Monsoon/dATAHA U IGEIGII
(d) Predominance of cash crops/slehd! ®&Edl Pl TUTAT

87. Which one of the following is not a specified Sub-Mission of the National Livestock

Mission?/fasaferf@a & & ia-a1 T uua ffea & [Afafie su-fFea a8 &2
(a) Livestock development/UR[deT fera
(b) Pig development in north western region. /GfRIAR &7 # FIN Tahra
(c) Fodder and feed development/aRT 3R 3meR e
(d) Skill development, technology transfer and extension/@ierel faerg, diafadr gediaroer 3R Aear

88. Who among the following wrote the famous text ‘A Discourse on Political Economy’? /faFafaf@a #

a1 foraa uRig gEas ‘T RBEe e difafewe soarer fordde
(a) Montesquieu/HATecTFg,
(b) Voltaire /aieeax
(c) Rousseau/&&Y
(d) Adam Smith/TsH AT

89. Which of the following statements about the resolution adopted in the Karachi session of the Indian

15 |

National Congress with regard to fundamental rights and economic policy is/are correct? /el
HRAGRT AR 3fTw AT & Fou A, ARAT TET Frow 3AAAT # 3R fFe 70 FHeq &
IR & Rafaf@a d 9 dla-ar/aa9-8 sa9 T8 /82

1. It was apposed by Ambalal Sarabhai./3{ETellel TRTATS = @A AL fopar aT|

2. Its 20 points included demands for civil liberties and adult suffrage./38d 20 AT # AFIRS
TadadT 3R guEs AATAGR Hr A6 e o)

Select the correct answer using the code given below/=a f&T 1T ge @1 GANT &R HE 3/ JAT:




(a) 1 only/&haeT 1

(b) 2 only/&aer 2

(c) Both 1 and 2/1 3iR 2 a4t

(d) Neither 1 nor 2/a7 @t 1, T & 2

90. Which of the following statements about the Law Commission headed by Lord Macaulay is\are

correct?/dis HAabiel I LT dTel off HARA (AT 3mahr) & IR F Fafaf@a 7 & aia-
qT/PA-8 YT T B/8?
1. It attempted to codify the laws. /38 @Iefeil & BISIAIOT T GATH FRaT|
2. It was opposed to uniform system of Courts./J& =ITATAl I THAATA JoTrelr 1 AT 7|
Select the correct answer using the code given below: /=T f&T 1T R DI TIT Y el 52X
gﬁt’:

(a) 1 only/&hae 1

(b) 2 only/&aer 2

(c) Both 1 and 2/1 3R 2 am&r

(d) Neither 1 nor 2/ @t 1, T & 2

91. Dingko Singh, and Asian Games gold medallist, who died recently, was associated with which one of
the following games ?/TRIATS Well & Faol ueeh faidr & fSen e, S=dr ol & # #cg 8 ¢,
fAFafafaa # ¥ fhE wo @ Fafq 7

(a) Swimming /8T

(b) Boxing/FerheTsit

(c) Archery/dRersir

(d) Gymnastics/fSHATECH

92. Who among the following is the lone Indian Cricketer included in the ICC Hall of Fame special
inductions to mark the inaugural ICC World Test Championship Final?/faeafofaa & & vaars

HRAT fhdhe i € T8 33018 dos e dMNIARIT BEad & 3gled & NaiR W 3. 4.4
eid 3% B A fAfre FaAEra & ¥ # enfda fomar arame

(a) Dilip Vengsarkar/feelia dorereaT

(b) Ravi Shastri/Ifa &l

(c) Mohinder Amarnath/#ITg&e 31RATY

(d) Vinoo Mankad /e #Tehs

93. Which one of the following nations is not a permanent member of G7?/fAFfaf@d & & dia-ar TE,
G7 &1 TARN FEET A& &7
(@) India/ARA
(b) Canada/ TSt
(c) France /g

(d) Italy /3celt

94. Operation Olivia, an initiative to protect Olive Ridley turtles, is undertaken by/ﬁmﬁf TR
fafear urs fhar &, S 76 3ifera Reot w3l & W8T & fov th geel §7
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(a) Indian Navy/#ARA™T AT

(b) Indian Coast Guard/HRAIT dcI&Th

(c) Ministry of Environment, Forest and Climate Change/TaTeRuT, ad 3R Sterarg aRadd #arerd
(d) Ministry of Earth Sciences/qdl fa<ie HITET

95. Who among the following is the winner of the French Open 2021 Men’s Singles Final? /fasfeaf@d
HY Bl BT TS 2021 JEY Tehol Bl Pl fdoidr &2
(a) Novak Djokovic/aAtdare Siepifaed
(b) Rafael Nadal/ITthel =TsTel
(c) Stefanos Tsitsipas/THANT Aafara
(d) Daniil Medvedev/3fae Redea

96. Economist Rebeca Grynspan, who recently became the first woman to be appointed as the head of
the United Nations Conference on Trade and Development (UNCTAD), hails from/31m& {dent

Freda, S R 3R e ) g6 g A (UNCTAD) & HeTeT & &9 &l &
g glet arel ugell Afgenn &, fhw a1 & &2

(a) Germany /STl

(b) Poland /4ol

(c) Costa Rica/@®Eer Rer

(d) Mexico /R faaer

97. ‘Belt and Road Initiative’ is a foreign policy initiative of/ ‘e U5 Us sfafwfea’ (‘ety 3R T=®
Uger’) fAeAfei@d & @ fha g 1 fager Sfderd uger 2
(a) China/dl
(b) United States of America/dJ® Td AR
(c) Canada/hdrsT
(d) Japan/<iTdre

98. Which one of the following is the theme of the International Day of Yoga 20217 /f@sfaf@a #4 =ia-
a1 ATET AT TGaw 2021 @ fawg () &2
(a) Yoga at home and yoga with family /8% ¥ 39T 3R gRaR & @y T
(b) Yoga for climate action/UaTaRoT & forw Irer
(c) Yoga for well-being/&earoT & forw T
(d) Yoga for peace/<nfa & forw ot

99. Kenneth Kaunda, who died recently at the age of 97, was the former president of /a1 @isT, fSadhT
gl & 7 97 a¥ & Iy F HY g3, fhw U & qg wgafd A7
(a) Brazil /sTSiTel
(b) Mexico /R faraer
(c) Zambia/=Tfer=T
(d) South Sudan/gfarof gt
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100. The maiden Indian Navy-European Union Naval Force (IN-EUNAVFOR) Exercise (2021) was
conducted in/Ugell ARAT AFAT-JUANT Fa AdTAS d (IN-EUNAVFOR) HFITH (2021) Hel

AT R aran?
(a) Gulf of Mannar/FeX &1 @3
(b) Gulf of Aden/3igeT &T @ET
(c) Gulf of Khambhat/@HTd &I @rar
(d) Gulf of Aqaba/3ThraT &T @aT

101. The pH value of Milk of Magnesia is approximately? /free 3T FeHAAT &1 pH AT ST
frcar &2
(a) Zero/R[eI
(b) 7

(c) 10
(d) 14

102. Which one of the following compounds is used in ‘black and white’ photography?/ ‘Tl TS glBe

(‘Peor R AT) BreraTh d Heafafd d @ g s a1 gaer fear siar g2
(@) AgF
(b) AgBr
(c) AgCl
(d) Ag2SO,

103. What is the number of water molecules present in a Ferrous Sulphate crystal? /%hi& Tethe fohece
# fagara st & o3t hr dear fhaeh &2
(@)1
(b) 3
(€)5
(d)7

104. What is the colour of the precipitate obtained by passing CO, gas through lime Water?/ij\FT & reir
H CO, N yarfed e W Urd &g f6H T &1 gar &2
(a) Green/&0
(b) Blue/=irell
(c) White /&%
(d) Brown /811

105. Which one of the following pairs of elements is liquid at room temperature and at normal

pressure?/fAFfaf@d & ¥ dwdl & PHF-T oA TAT dUA IR AT §d W & aar &7
(a) Gallium and Bromine /3fermer 3iR sl
(b) Mercury and Bromine/URg, 3iR st
(c) Gallium and Mercury/diforar 3R uRe
(d) Gallium and Caesium/3ferer 3R @fSze

106. Which one of the following methods can be used to separate anthracene from a mixture of salt and

anthracene?/dd& AR TIMT & fHH0T # @ TTAF B qUP A & fov Arafaf@d # @ Hia-
oy fa &1 g FaT ST gepar §7
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(a)Distillation/ 3THd<

(b) Sublimation/Zadurde

(c) Evaporation /aTsdTehoT

(d) Chromatography /aoTer@s

107. Shoots of plant show upward movement and it can be designated to be/gi4l & WRie Fua aifa
vefdia aXd § 3R 3 eafaf@a & o fraw wfAfRka forar o gwar &2
(a) Negatively phototropic/ 0T FehTRITIdd !
(b) Positively chemotropic/YeTcdch {Hludlgqcﬁ

(c) Positively hydrotropic/IeTcdd dﬁl@qcﬁ

(d) Negatively geotropic/#CTcHh g{«u—qlqu"l

108. Which one of the following statements about the process of photosynthesis is correct? /UhI1-
gHwoT Hr githar & R F fAFAfai@d § 9 dl9-a1 HYA T §?
(a) Chemical energy is converted into light energy. /ARG Fail U1l Foil # gRafdd aar &

(b) Carbon dioxide is oxidized to form carbohydrate. /&TeigBse I & T BT SS3TFASS
eIl BT T

(c) Water molecule splits into hydrogen and oxygen./STel & 310] &sglold 3R 3iferdiad # a9rh g1
gl

(d) Light energy is directly used to split water./sTel @I a9 aRat & fow Uhrr a1 &1 WY sATT
fopam ST ®

109. How are evergreen plants with woody stems having naked seed classified? /3{dTd €Sl dTel HISA
dt g deruoff aiul @ & asffpd fear Srar &2

(a) Angiosperms /UfSraEasy

(b) Monocotyledons /HATAIdI Bl
(c) Pteridophytes/EReImrse

(d) Gymnosperms /TSFAEqay

110. Which one of the following tissues is known as basic packing tissue and found in xylem and

phloem?/fAFATf@d # & -8 Fad, HA HIOT Fad (98w Ufhar e & U & Far AT &
3R & (Ssee) JAT NVars (Fws) F urm Sar 2
(a) Collenchyma/ &S

(b) Parenchyma/#cch
(c) Sclerenchyma/galddh

(d) Vessels /arfeenT

111. Girth of stem of a plant increases due to division of cells in/fFdl TiY & d & aX (T1H) & gig
Aearaf@a d @ frad g arer Fifer A & dRoT gdr 82
(a) apical meristem only./&ae AT fAIATH
(b) lateral meristem only. /shdel UIRe fae=Ades
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(c) apical and intercalary meristem. /&g 3R 3iadft fassaias
(d) both apical and lateral meristem. /4Ty 3R ureg fasr=dides gt

112. Different varieties of the same gene are called/T& & i & Affea UFT FIT Healld &2
(a) Genotypes/SURT
(b) Sib pairs/Fglex JIA

(c) Alleles /gTATaheUT
(d) Isomers/HATGIG!

113. Which one of the following viruses used to be responsible for highly infectious disease

Smallpox?/fAFferi@d # & Sid-a1 fauT] (are3d) HcITUh HshlAb W Agh & fov FFAGR
BT AT AT?

(a) Adenovirus/ITATAETT] (TEAETSIH)

(b) Variola virus/aR3fier fawmog

(c) Aichi virus/31Ts=ll fauTog

(d) Coxsackie virus /e fauTo]

114. Buoyancy is a/an/3cCelladhdl T &7
(a) upward pressure/SUdHE! G
(b) downward pressure/3HET &Tel
(c) downward force/3THET &el

(d) upward force/ FUIAET Tel

115. Weight and mass of an object are defined with Newton’s laws of motion, Which among the following

is true?/fRET a¥g & AR 3R GIAT B =ged F Md & @A § aRA™S fear e g
fAFafef@a & @ Pia-a1 T &2
(a)Weight is a constant of proportionality./HR 3fiJuTfdehdr @l fAadies B

(b) Mass is a constant of proportionality. /GedT HTFUTidDhdT &1 [ATdid

(c) Mass is not a constant of proportionality. /Geg#e TUTAhdr H AIdid A& &

(d) Weight is a universal constant./HR d&E¥d f&Gadie I

116. Fundamental laws of physics require./$ifd® fa=a & Fadd fAgd # Far 3nfaa &2
(a) conservation of energy and non-conservation of charge. /il @7 TI&TOT 3R 3TALT &7 31EIETOT

(b) conservation of charge and non-conservation of linear momentum. /3Tl & TI&0T 3R T&H
AT BT 3TETETOT

(c) conservation of charge and non-conservation of energy./3Tdr & TIETOT AR Foll T TEAIETOT
(d) conservation of energy, momentum and charge./ZlT, HAI 3R AL T TIETOT

117. Work is said to be one Joule when a force of /fR&l & Pl Tk T Ha el ST &2
(a) 4 N moves an object by 25 cm./STd 4 N el fpel a&g @ 25 cm faeafid &ar &
(b) 2 N moves an objectby 1 m. S 2 N da forelt a&g & 1 m faefid &am &

(c) 1 N moves an objectby 1 cm. S 1 N el fR&T a¥g & 1 cm faruiia &ar &
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(d) 1 N moves an object by 50 cm. ST&f 1 N &l fehdl g&q @I 50 cm faEAiUT dar &

118. A uniform motion of a car along a circular path experiences/frdl gfiT T WX forelt R Hr
ThEA T Fr ufed eiar 2

(a) a change in speed due to a change in its direction of motion./®R & afa $r fGer 3 aRada &
HROT Tl #H gRada
(b) a change in velocity due to a change in its direction of motion. /&R @1 a1fa &1 feem & aRada &
HROT 4T A gRad=
(c) a change in momentum due to no change in its direction of motin./&@R &1 Jifd fr Gem F &S
IRAdA %1 8l & BROT TAIT A gRAdA
(d) a constant momentum due to a change in its direction of motion./&R & a1fa &t feem & aRad=
& HROT TR Faa

119. Three equal resistors are connected in parallel configuration in a closed electrical circuit. Then the

total resistance in the circuit becomes/féhell e fagd uRuy & e g ufaius qrudsha &
wafaa fer ara €1 sad oy & go ufady fRedar aeme

(a) one-third of the individual resistance./caf®ara (Fffagg3rer) ufaRia &1 we-faes

(b) two-third of the individual resistance /eaf8ard UfaRIar &1 &r-faers

(c) equal to the individual resistance./af8d UfaIY & SRR

(d) throw times of the individual resistance. /<af83rd UfAAY &l il T[T

120. Rutherford’s alpha-particle (a) scattering experiment was responsible for the discovery of which one

of the following?/3GIHIS HT VeHI-hoT (o) ThOT gAter, Reafaf@a & & frgdhr @ & fow
STRERY AT?

(a) Electron/3olagl

(b) Proton/9reld

(c) Atomic Nucleus/UIHATI] ATIHD

(d) Neutron/=Jgiel

121. What is the maximum number of electron in the M-Shell?/ M-&1T (M-Shell) & Selareiar 6T

37fApad gw=ar fhaaT gy &2
(@) 6
(b) 8
(c) 18
(d) 32

122. Chlorine occurs in hature in two isotopic forms of masses 35 u and 37 u in the ratio of 3:1
respectively. What is the average atomic mass of the Chlorine atom? /Ufd # @elleT 35 u 3R 37 u
GCIAT & &l FHEUNAD FUT # HAA: 3:1 &S HFUId H UM AT &1 FANIT GATI] d1 3Hrad
WRAOTd geIATT FIT 82

(a) 36-1 u
(b) 35-5 u
(c) 36-5u
(d) 35-1 u
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123. Which one of the following elements isotopes is used in the treatment of cancer? /& & 3TaR H
fRAeafaf@d awal & gaenae d F fraer AT fhar Sar 2
(a) lodine /3RS
(b) Sodium/&STH
(c) Cobalt/®dTec

(d) Uranium /AT
124. To protect steel and iron from rusting, a thin layer of which one of the following metals is
applied?/3EuTd 3R &g 1 ST o0 @ Faa & fow, [Aeafaf@a & @ fva arg & gaeh g
Tere ST &2
(a) Magnesium/#TA Tz
(b) Zinc/STEAT

(c) Aluminium/TegATaTH
(d) Lead/drar

125. Cinnabar is an ore of which one of the following?/&eaR Aeafoafaa & & fraer 3Es &2
(a) Copper/drH
(b) Zinc/ ST
(c) Mercury/Uric
(d) Manganese /HTeitst

126. Imagine a current-carrying straight conductor with magnetic field of lines in anti-clockwise direction.
Then the direction of current is determined by/fehel T8 YRTETEl o] (H1YT) TTeleh P PHede

dhfore, forad g &9 Y@ ardArad feem F &1 39 srawen # 9wy & ferrn fhaw fAuiRa &
STTaf?
(a) the Right-Hand Thumb rule and it would be in the downward direction. /&&IoT-g&d 3-1'{[8 s &
gRT 3R sEehr fqem reegE gef
(b) the Left-hand Thumb rule and it would be in the downward direction. /dTH-g&d 38 @IH & gRT

3R g feRm sraE Al
(c) the Right-Hand Thumb rule and it would be in the upward directions. /&f&ToT-g&d 317118 T & gRI

AR sadr fGem sGaadr aefr
(d) the Left-Hand Thumb rule and it would be in the upward direction./ dTH-g&d 317118 T & gRI

3R ST for SEEE e

127. The device used to produce electric current is known as/fagd URT 3cUed A & foIw Ugh
e (Farsd) & &1 ded 82
(a) motor /3T
(b) generator/Sfa=T
(c) ammeter /T
(d) galvanometer/9RTATAT (Fedatadiex)
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128. Mypia is a defect in human vision where an image of a/fdee i (ARNTAAT) AT &1 a8 T AW
¢ o
(a) near by object is focused beyond the retina./fhdT e EUT a¥q &1 ufdfda Wear & R By

el &
(b) near by object is focused before the retina. /e e EUd a&q @1 ufafda ear & uga Hrvd

B &l
(c) distant object is focused before the retina. fh&l g¥ FUd a¥q &1 gfdfda Iear @ ugel Hpd

o B
(d) distant object is focused beyond the retina. fr&T g¥ f&rd a&q &1 gfdfda ear & UR Blnd

eI Bl

129. Tyndall effect is a phenomenon of /fégar wea Aeafaf@a & & dia-d aReear §2
(a)scattering of light by the colloidal particles. /®IdgaT HUTT gRT UHIA HI YhroTd
(b) refraction of light by the colloidal particles. /®IeIgS! HUTT gRT UhTA Pl Ui
(c) dispersion of light by dust particles./¥el Ul §RT Fehrel &T gRaor (fFauaeie)
(d) refraction of light by dust particles./4g HUT ERT WehIRT HT ITdTA

130. Twinkling of stars is primarily due to the atmospheric/aRl &1 feHATCHEA fAFATei@d d § ALI:
frEd HROT BT B2
(@) refraction/agFHSeA HUIAA
(b) reflection/aGFHSAT TIaci
(c) polarization/argHST YaoT
(d) dispersion/aTgHSei TRETTUT

131. Cornea in human eye/dAHd 33 H FTITSHSH (PIfAT) AT &2
(a) is a light sensitive screen./Jg Y1 TGl Wl (HhI) &
(b) is a muscular diaphragm./Jg 0T ALIUC (SATHIHA) &
(c) contains blood vessels. /38 R arfesdd gidr &
(d) is composed of proteins and cells./TJ& WA 3R FIfAB3T & Fa1 BT &

132. Power of a lens of focal length 25 cm is/feh&T 25 cm ®IhH Y dTel oleq &I &THAT fehcelr &2
(a) +2.5 Dioptre/+2.5 3
(b) +3 Dioptre/+3 3R
(c) +4 Dioptre/+4 31T
(d) +5 Dioptre/+5 3[R

133. What is the total number of chambers in the stomach of domestic animals like cattle, buffalo, goat

and sheep?/aMg-del (heel), A, gpll 3R A S relq Y3t & AR F Fall (FR) P Pl
TEaT fopder et &7

(a) Four/dX

(b) Two/ar

(c) One/Th
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(d) Three/deT

134. Intestinal bacteria are main source of which one of the following vitamins? /31 Sfiamv] fAFAfei@d #4
fra faarfda & geg dia €2
(a) Vitamin E/faerfa= §
(b) Vitamin C/faeifaar &
(c) Vitamin BY?/faerfda &,
(d) Vitamin A/faei@a ©

135. Which one of the following hormones is responsible for the development of female sexual

characters?/fAeafaf@d & & dla-ar e@a & Ji9 3rfAceon & e & fow saerRt &2
(a)Prolactin/wreifdrea
(b) Estrogen/T¥eiaid
(c) Oxygen /3iTael &=
(d) Progesterone /UTat&e

136. Spherical mirror formula relating an object distance ‘u’, image distance ‘v’ and focal length of mirror ‘f

may be applied to a plane mirror when/fda gt ‘v gfafde g ‘v 3R ador & wrwd gl F ¥ FaRT
MellI gUUT A e AT GUUT W 3 9] fRar ST Hebar B2

(a) focal length goes to infinity./STd ®IhH g 3ed Bl §

(b) focal length goes to zero./<Td HIHd E,ff Qi g §

(c) image distance goes to zero./S/d ufdfdea gl Y=g &Il &

(d) image distance goes to infinity. /sta gfafda gt 3rda gt ©

137. Nuclear energy is generated by /ATTRAT Foll fFTH 3cUed Bl 2
(a) nuclear fission and its expression was proposed by Einstein. /a1f3ha fd@sa & 3R s8@d cuals
(TFAURI) P IETCIS gRT UEaTiad fopam ar=r |
(b) nuclear fission and its expression was proposed by Rutherford./ATTRAT fa@sa & 3R 396 Tt aI

EIHIS R gEariad fopar = |
(c) nuclear fusion and its expression was proposed by Bohr. /A& Terad & 3R §@d cdoid @ dR

SRT gEarfad foRam aram am|
(d) nuclear fusion and its expression was proposed by Heisenberg. /aTf#h Toaa & 3R g% ot &l

eSoTadT gRT UEdifad fopam aram am|

138. Reverberation is a phenomenon associated with a/37X0le HFATaf@d & @ e @afda aRgear
®?
(a) multiple refraction of sound./%afel & &g HUac
(b) multiple reflection of sound./<afa @1 ag WRade
(c) single refraction of sound./<afd & Thel ITTac
(d) single reflection of sound./¢<afd & Tdha Wiad

139. Which among the following is true for propagation of sound waves?/%¢afa d@iait & @RI & forw
fAFafoaf@a # & wia-a1 @dr &2
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(a) Sound can travel in vacuum and it is a transverse wave in air./fata & «afa &1 =T & ghdr % IR
ag # cafd aer Uy g

(b) Sound cannot travel in vacuum and it is a longitudinal wave in air./faafa & <afa &1 G@RoT FE @
FhdT & 3N arg F wafed aior 3gesy e &

(c) Sound can travel in vacuum and it is a longitudinal wave in air./faald & «afd @1 F@ROT & Fhar & 3R
ag # wafed daeT HISLT Bl Bl

(d) Sound cannot travel in vacuum and it is a transverse wave in air./faard & «afd &1 TROT AT & Thdr
¥ 3R arg & wfd aor gy @ ¥

140. A tennis ball is thrown in the vertically upward direction and the ball attains a maximum height of 20 m.
The ball was thrown approximately with an upward velocity of /T ¢fad Jig @ FYaraR Fuw & fGm

the! ST & 3R 9ig 3ifBdar 20m &1 Far$ T ygedl &1 i Bl I v Seadg@l dar & thepr
IAT?

(a) 8 m/s

(b) 12 m/s
(c) 16 m/s
(d) 20 m/s

141. An object of mass 2000 g possesses 100 J kinetic energy. The object must be moving with a speed
of/foReT 2000 g GETATT d TG H 100J IIfAST Fafl &l a&g fovaelr arel & aIfd AT W 72

(a) 10.0 m/s
(b) 11.1 m/s
(c) 11.2 m/s
(d) 12.1 m/s

142. Which one of the following ions is not iso-electronic with F~ ?/faeafaif@d & & dla-a1 A= F & @MY
TH-Solagicll Il o7
(a) O*
(b) Na*
(c) Ne
(d) N

143. What is the total number of covalent bonds in methanol? /HJdTel # TEEAISH 3L H Pl FEAT

fohde 7
(@) 3
(b) 4
()5
(d)6

144. Which one of the following is the chemical formula of Plaster of Paris? /faeToiiad & & Bia-AT TallFeX
3 URE a1 TS T e
() CaS0435H,0
(b) C.S0, 2 H,0
(¢) CaSO4 .5 H,0
(d) C.S04.4 H,0
145. The unit of the ratio between thrust and impulse is same as that of /uolig 3R 3mder & &= Aqard &hr
1S Hedforiad # & fhad T 2
(a) frequency/3Tgfa
(b) speed/dTel
(c) wavelength/aRaTeed
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(d) acceleration/cd0T

146. Which one of the following figures correctly shows the path of a ray of light through a glass prism? /gt
P & U F eRA drell grer for & g & Feafaf@d & & $i9-a1 3IRT T &7 § gAfar &2

@) “*"\

(b) ™

o T2

e
(d)

147. When a light beam falls on a triangular glass prism, a band of colours is obtained, Which one of the

following statements is correct in this regard? /3@ @IS Fehrr st dia & e Booha Osd w
sdT &,dl W & U d5 9 Sar &1 39 999 d Aeafoiad d & Sia-a1 3 @@y g2
(a) Red light bends the most, as the refractive index of glass for red light is greatest. /alTel UehIT HaH 3fAH
ASAT &, FIfh orel YahIer & fow dra &1 Hudddie dad AfAd Bl
(b) Red light bends the most, as the refractive index of glass for red light is lowest. /alTel UehIT FaH TS
HASAT &, Fifh oTel Yep1er & T e &l IUadaich o HH &
(c) Violet light bends the most, as the refractive index of glass for violet light is greatest. /9Tl YTl Tad
UG HT ¥, FAifh o1l geprer & forw g &1 udddi dad A Bl
(d) Violet light bends the most, as the refractive index of glass for violet light is lowest. /9T UehIT o
HRAF F1 &, Fifs Fol gehrer & AT g HT UASAD FIH HH

148. The image of and object formed by a plane mirror is/fF&l FHAd GUUT gRT Tt dTel fohdl a¥q
gfafda &ar grar g2
(a) erect, real and larger. /84T aEdfasd 3R g31
(b) erect, virtual and same size. /&, 3TART 3R 34T THER
(c) inverted, virtual and same size./3ecl, TR 3R 38T 3THR &7
(d) inverted, real and smaller./3e<l, aEdidd 3R ST

149. Which one of the following is not a conservative force?/fAafaf@d d & HiT-a1 TWeN T8 T &°
(a) Frictional force /&9uT ot
(b) Electric force/fagd aot
(c) Gravitational force/I[&cdI Tl
(d) Spring force/&waATAT (FEHIT) et

150. A negative work is done when an applied force F and the corresponding displacement S are /FUTlcHb
BRI dd Bl &, ST IRIUT g7 F 3R degsu faeamua s
(a) perpendicular to each other./Teh-gaY & oeddd &id &
(b) parallel to each other./Teh-gEY & FHIGR &d &l

26 |




27 |

(c) anti-parallel to each other./Ueh-g@Y & Ufd-HATR Bd &l
(d) equal inmagnitude./gRATOT F TR BT &l
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